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Yepmex:| 3.407.2-168.1
Bec memansna: 24145 ke
Bec memu308: 1355 ke.
Bec onopesi: 25500 ke.
Bec yuHk.nokp.: 966 ke.
Oowuu Bec onopesl
u UUHK.npOKp”. 26466 ke.
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Yepmex:| 3.407.2-168.1
Bec memanna: 29378 ke.
Bec memu308: 1532 ke.
Bec onopei: 30910 ke.
Bec yumHk.nokp.: 1176 ke.
Oowuu Bec onopsl
LlUHK.ﬂ%Kp.: 32086 ke.
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Yepmex:| 3.407.2-168.1
Bec memanna: 36092 ke.
Bec memu306: 1708 ke.
Bec onopesi: 37800 ke.
Bec yurk.nokp.: 1444 ke
Odowuu Bec onopsi
u uuyx.n’%xp.: 39244 ke.
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Yepmex: | 3.407.2-168.1
Bec memanna: 43115 ke
Bec memu308: 1885 ke
Bec onopsi: 45000 ke
Bec yuHk.nokp.: 1725 ke.
Oowuu Bec onopsi
4 LlUHK.I"IDDKp.: 46725 ke




-2/40

[I[1710

61,0

= 2,5i
S
\O
i 4,0 4,0 i
N
N
6,5 6,5
N
N
4,5 4,5
S
S
\i
=S EEEELEE
]| AT | [
S
6,8
Yepmex:| 3.407.2-168.1
Bec memanna: 32067 ke.
Bec memu308: 1533 ke.
Bec onopsi: 33600 ke.
Bec yuHk.nokp.: 1283 ke.
Odowuu Bec onopesl 34883 k2

YUHK.NOKP.:
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HYepmex:| 3.407.2-168.1
Bec memanna: 40088 ke.
Bec memu306: 1812 ke.
Bec onopei: 41900 ke.
Bec yuHk.nokp.: 1604 ke.
Odwuu Bec onopesl 43504 K2

UUHK.NOKP.:
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Yepmex: | 3.407.2-168.1
Bec memanna: 48150 ke.
Bec memu3086: 2090 ke.
Bec onopesi: 50240 ke.
Bec yuHk.nokp.: 1926 «ke.
Odowuu Bec onopsi
4 uUHK.n'%Kp.: 52166 ke.




